431 0T

A <24 CS210

FirE% B RBE L ORBET -
112 205" 24 p (&% =) 12:00~13:30

??5_* g IREFIL A5)E2F | 5L
UHH | F Rkt i e E5AE A 2T 4R 22X Pp Y 112.05.24
AR AR M1 FE R EE i Y g P agn | pALXE
F4v 4t % iii]j?f?%wi Fr & A |60 4 FRAELR 97.6%
R Al
PoEE g FEY BALEES AT L AR ARG EE L TRk ER A F

P Y

11 :50-12 : 00 |3F 3|

12 : 00-12 : 05 &

SR
PR A3 23 A5 PR A%

12 1 05-13 : 05

13:05-13: 20 |Q&A 2 jmpE R

13 : 20-13 : 30 |w 4 p A

B MﬁmAﬁiv&&¢g€%
BRSf MY LA F g

ll_

¥
ok

o o =

She
GO
\_

SR m 4R e R

e R L w @
/(.‘

“fff £

i —

e

v
- e o
Kﬁ""ﬁ - P
e

=g

5 RN



L 09

=N #///r‘m
2 e=18

BE o MR O

135 = w8

R4 W




iz R

-~

P

5L R D B S

Pl B #i

\

FRSLR 97.6A

B

TianiE (A 54=100%)

1A= FEdenp ) 2 pRECE 2

490 (98.1%)

Z,ﬁ»k,pfrv7 IS 39 2 BT 3 A

488 (97.6%)

QA ERHKE gt §

488 (97.6%)

A% A B A R

486 (97.1%)

FRALARRTIOE)

488 (97.6%)

R E R R

1. g3~ 3 |

2. | can understand most of the parts but it would be nice to have a summary/conclusions in English

B

4. MNF R O FIERATH

FEI rrFF FH AR AL
5 2 5 1 5
Eifi 4 A 4l ~ 4'@4‘}_% T G e | BB H 1
—“FP*?F”“ fi%?]‘?p i\:ﬂ?‘t’g - K’Tb'ﬁg%%&ﬁi -
2 1 6 0 15
) feH By B I8 g i L
alia
7 14 6 0 15
F 1~3 & 4~6 & T~10 & 10 # 12 ¢
Sy
0 6 7 8 21




